X
=
(=]
&
©
J
X
=
o
&

< & ¢@>(rad)

=
o

- A :
: = E :
------- pi 5 0.15 H
. o r .
........ 1 U S O DT TR o = F U SUTT SRR TR
: v Ok :
------- 0.05F
------- |- 0:— “
------- ~0.05F R e, SR
------- ] -0.1+
....... + I PR TR _0_15:_ |
N Y| B o 0.2t | O RETIIT T
L L | S F L]+ E
x +[H A il 1 R S
LTI 0.5 i 111
TR : E g T :
-1 " 2 3 C-71 = : l2 3
1 TPlpg)T (PCA t%obeamlinéLP 10 1 TPlp(>)T (PCA t%obeamlinéLP

majvector—1000evt

i

T
|

[y
D O O
OO

< 00, > (um)
N
(@]

i
‘Eﬁs - %%%Zﬁ—%‘%%ﬂ%bmws 1000evt

n - —~ 100p T

c : : IS c :

. J: 0 [ 1 O S = 80F 2 O S
E : : N, o + |

= K o | SRR - 60 SHAT L
u L : o u 1 + %

- 1 b v 40F FERH AL R R o b R
C ing T n 1 - L |

- 221 0 SO 20 & 11T 1 R
F : F +1 [+ :

- fH T F Y Y ETTETP R oF LR L R N P A o P
2 gt F % E

o 4T £ ¥ :

— TRt e -20F AHEE o B R
F ;; T F &+ :

- o b EERREREE R b —40:— +- APy
- 1 —60F : O
E + K3 E :

» - k2

o f 1S EERRRE R -80F- R TRt
SO ENE A1 O S o 100f bl
E. ; p 1 e T E 1

E B x = + R
= 22 1 : 1 [+

E o5 --HAFHEHAFH -3
E. &} e E

E i E +

[N

OO
I8

[N

o B
1 2 3
10 L 1P (pea dbeamiindf

< opJp, > (%)

o
]

L)
. 1 T
] ol ]
b L
HE

=
o
AN

Il T&I%T (PCA %8 2beamliné)03



	Contents
	Page 1


